KEY

Date

~ .ONS

~iven the following relations, state the domain, range and tell whether it is a function or not. Explain.
1. {{5-1),(0,3),(-2.-4). (6,-1) (-2, 3)} 2. Function? -

runctions N whye ~8 vepents Whye hla_x Coovelioghes vepedt
vomai: ¢=8,0, 5,6 3 pomain: £ ~3,71,0,2,9%
cange:_£ " 4,71, 3 3 Range:_2 =2, % LIS
NOTE. 0n the mogaring dicorom, the
‘At and cutedt vaTue § § ot

: hove lbeewn L.qan tetsS+ S
3. Evaluate f(x) = -3x - 2 over the domain {-2, -1, 0, 2). What is the range? " s Greore

+Car= "3Cai-a= Y4 £06)= —2{)-a= =& 1
‘P(’"U = ""BC:“I)"'& = | 'PC-_&) o :gCg,?)m& -8 Y.Gfﬁﬁiﬂ?

Given: f(x)=-5x+7 g(x)=2x+3 e ? .
4 g(3)=(H) i; 5.f(~3) ' 6.9(—2)= 7.f(0}:(7)

43 G iy T
i VS +7 n G+
g+ 3 | m + 3 1
Given:f(x) = 3x — 1 g(x) = x+2 h(x)=-x-2

e,

8.f(1)+4={ (o | 9.g(4)-h(-1)=( 5) Elo.g{7)+3f(-2)® jm.gb_l(ei)—s§15>

: = e i
. S fay= 2l-ad-l= =73 7 =8 a-=5=-10
9‘-{)‘..*“ h(_l):—é-tj-gzl_a:-l FC&}-ﬁf a2~ 7 e\l
f 2-"1 3+ ~al “10-5
Given k{x) = {(-5, -10), (-3, 0), (0, 1), (2, 5). (6. 9). (10, 13), (13,17

)} ’
1242 =(5 ) 13, k(O)=@ 14, k[-3) = (; E): ) 15.k(13] =@

Given the graph to the right, evaluate the following: I 1(X) ,

16.(-6) = \_T_ 3

17.f(-3) A ¢ 1

18. f(2) = F= == = 4 =+ 1\.'?\,_3 TR
1
F2
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#19-22: Givenf(x) = -5x+ 7 and g(x) = 2

“19,f-2) = @ 20. If f[x) = -8, determine the value of x. f{.3 ) = -8.

~S(alt7 TeXt7 = "8
O-+7 “SxX = — 15
X== _
21.9{4) = - 22.1f g[x) = -1, determine the value ofx.g(ﬁ):—l.
30 +4 (z +L9 i A @f%i = — | ozf XK= T 6
2 2 A G T T2 X ="
_x-6

#23-30: Given: f{(x}=-2x+5 h(x)=3x*—x+1 j(x):g_

_ 5
jtey 02 -
23.h(-1)=(_ o) ) 24.ifx) = -2, x4 ﬂ) 25.g{]0)=@ 26.f(x)=—7,x=(_ © )

3C0 - ¢ | -%i-s::'-a o0-6 _ y —AX+S=—7
"3t /*’(-X—::EB = 9 a ‘8 ’aXf“\a
ok D i@
27.g(x}=-1,x=(“’%" 28.1'(12):@ 29. (k) = . 30.j{x) = -3, x =
7 X=C . -5 ~a(E)+Ss X-5:-
z -
N‘“‘"Ca‘.lmz L‘t“"S \+S ﬁ/%:ag
¥ ‘"‘i
X =

Use the graph of y = f(x) to answer each question. o
) Ay =
Nt 31.f{2) = 32.f(x)=-2,x=( { j 33.f(-3) = 5
S N 34. f{0) = 35. f{x) =O,x:§ é ) 36. f(x} = QB

4

¥

#26 — 28: Marcus currently owns 200 songs in his iTunes collection. Every month, he plans to add 15
new songs. Write a function f(x} to model this scenario, and use the function to answer the questions.

26. Function: f{x) = 1S5S X+ 200
27. Evaluate f{?}. Explain its meaning in the_context of the problem —““"*"“’“”""""““}k
+(q)= 15(a)+ 200 ALt A amonthns, Marcos wiil nove |
£(q) = 235 232G SONgS in \mS tTunes COHC(‘:hOﬂ-J
~28. Determine when f(x ) 425. Explain its meaning in the context of the problem.
ISX TR00 = 435 After \S onarths, AMoarcus wvil]
\SX = 23as Move W25 Sarg s n s VTunes Cc\tlﬁdft()ﬂ

X =15 2
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Il. Slope " =

Xa - ){I

Find the slope of the following
-.I Xy W X, Y
1. {10, -1) & {-2, 6)

2

Slepee TrteveepT |

points, equations, tables, and graphs.
m= b~ I--ZQ4+6Y
~—

Kty

AR /\Ax‘t‘"b
=OKan

-0 =z

Given the following explicit formula, find

On=4- 9 n-— ])
az =
.- Given the following explicit formula,

fillin the table.

- an=11+3[n-1)

+
Gz v +3(i-v) la, - u+3’(2_-’1)}

the t terms.
@ Qg = .

A% = y-q (G- \) aq- ¥ -9@-1)

4-q(z~1)

. - _ /@,ﬂ/‘"’ -L-}X‘HO
JJ’ , @ @ (b
> ’ik\ M7= ® )z(z 3; TS
A\ TR - e DA AY vise
ERERNE 1 1 3x 't2_< ] 7 ‘>+3 m= &X el on
S 2 <[ 2 LA v
S& v2<[ ® |¢T3
Ay
12 -1
i ~A<[p alel
[l SR 1 L -2l & 5 >"\
2 -af< 6 4 7=
? ~2<[g R P
g
l. Arithmetic Sequences
:-}Find the next three terms of the arithmetic sequence.
o470 "7 U TR 0. —13-s3 |l . 19.d7....
3. Use the table to write @ Term Numberll 1| 21| 3| 4
ive formula for th =17 Oz O o
recursive formula for the seguence. I value (an) ” 17 ” 23 ” 29 ” 35|
4. Given the following recursive formula,
fill in the ’roble. [TermNumbern)jf 1 || 2 || 3 || 4 || & || 6 |
=6; On=0ni—4 | _vaela | G|l & |72 -GlI18]-14
5. Given the following recursive formula, find the hext terms. Nay = =76 :
az =~ IR 7~=—82 _
o =2 On=Cn1-12 Q=34 Qs BT = C? L'-
et 16

| Term Number {n) | 1

L2 3 45 |6]

| Value {an)

U+ 17 [3o]33]ag ]

Gy=10t3(3~1) ay =\ 3(3-0lag = 1+3G-1) 0p="+3(6-1)
(3)



, (g.‘myau{fed PovM) \( y
Filf in the blanks and write the explicit formula. : w L 4

8. 16,3,-10, ... a=10 d4="13 C\n_—,[(0—73((,—\_)*‘.\%3—|30+2ﬂj
9 615,24, ... o= G a=d G=Gtila- )—'"L% q” 3]

Write the explicit formula and find the terms. N,

A0, 8,11 100 3(\ + S 1 034_(107] Gms—@ao 2t :5(3!-})-(—5
j:hos = 3(105)+ S

ST, -1,-8,-15, . \aﬂ_ - 7ﬂ -tugwl choe KQ)CHD Qs :(‘IO Qoo :"“7{%00)‘?'6‘

Q57270572 + 6
12. Kerpippy has $15in her piggy bank. She decides to add $2 each week.

a) Write the first four terms of the arithmetic sequence. {Hint: Term 1 is after week 1.)
7,19, 21, 273

b) Write the explicit formula for the arithmetic sequence.

on= 17+ ala—1) —n.—vl@n: 20 %‘IS]

c) Her goalis to buy Barbie a tank for $49 in 20 weeks. WITshe Rave enough mo

/)red S.m,at\{\ed 'POY/V\) o C’,}_C&CD 1‘[5 Ol = CY \/ey, She witll

C Peom PAET B hawve 353,00

‘Given the following recursive formulas, write the explicit formula ) .
Z a J i 20 wyeels

13. a1 =-10; An=CQn1 t+5 n_. 5(-\ _— ,5 ' : ond She ont

rneeds 144,00,

Find the next three terms. Name the term ai. State wheiher the sequénce is arithmetic or not. If it is
arithmetic, find the common difference.

41,4710, 13 b, 9 o

N

9 _I arithmetic? \[ES d= 3
+3 -\bf3+3 '
15.3, 6, 12, 24, "Fg 9¢ . Of&’ o= 5 aitmetice NO = N/A

VoV
XE xg K2

16. Write the INFINITE arithmetic sequence that is defined recursively here: ai =10, Gn=an1-6.

IO/L{-)-—(}/ #%’/039
17. Given the arithmetic sequence, write a simplified explicit formula. Then, use your formula to find
]

fhelems gn = 18+7(am1) = 0a= 1847057 = Gn = 7o +\ ||

18, 25,32, 39, ... on=\7m't' | | an=t & | Cizs =
N // /
&

g T 7CL0) 1) < Oac = 7(RS) +1| @




IV. Graph Characteristics - Matching. Choose the graph that has the characteristic give

1.

Domain: (—w,4]

h A 2. Y-int: {0, 0)

i ; 3. Increasing Interval: {-3, 1)

:'5 4. Range: [-3,3]

As

é \ 4. Has a rate of change of 2

left end behavior as ¥>~00, Y74

A.

KEY

Fill in the table of characteristics for the graph shown.

7.

b4

n below.
Y
4 B.
A
\
\ \
X
\
\Y
Characteristic Answar

Rate of Change - VQ
Damain C"‘ OO/ a j
Range C— '-f/ & ) )
Increasing Interval NOMNE

Decreaasing Interval

(-0, a)

¥-ihtercept

estiamate - (—6,0)

y-intercept

Co,—3) °

Left End Bshavior QS X7 —on, Y - OO

Right End Behaviar

oSx=? B,y " T Y

Characteristic Answear
Rate of Change \ ; - 3
o T % 27
-3 34
Increasing Interval C—" =<, i )
Decreasing Interval (\ ; ‘-3)
ctercep Ga,0) (2,0)
y-intercept CO , al

Left End Behavior

as x-3 -—g,,'\/ 2 —|

Right End Bshavior

03 X2 3, \;/—> -3

2. Given some characteristics, sketch the line and then fill in the rest of the characteristics.

Fos

R

Hx) = Xt

*rate of change: -1/2
domain: C" oo, OQ)
range: (—o0o, o0)

end behavior: left Asx > -, y> OO

right As x > oo,y—)-—oo

(3,0)

*y-intercept: (0.1

x-intercept;
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ill. Linear Functions

** Remember that oll linear functions have o constant rate of change.

“Function notation

1. Determine if the following is a relation or a function.

a. x |0 |1 |2 |3 |4
y 11 |14 |14 i 20
Function

C NO X coordinates mpaﬂ)

2. Rewrite the equation as a function.

y=5x-2 0% )=

3. Write the coordinate point that this corresponds to.

wo (g,0)

Continuous/Discrete
4, Determine if the relations/functions from problem #1 are discrete or continuous.

i
1
4

Domain/Range and Input/output

a Discrete

b. CantTinuwaoud

5. Identify the domain and range.

=R

a.

0

1

2

3

x
y

8

11

14

17

20

< . b
DOMAIN: E O/ 5} g‘,} g} 4 3?

RANGE: gg) “} [Lt-/ 17/ &Og

,.;2 41

o

RANGE:

WWW analyzema‘lh com

“."DOMAIN E...a Li’j@‘? -2 < % €
Ca, +Joe 2<y <4

2 3

b.

<4)

hmc?f ¢

c Discrvete

DOMAIN: %O, (,LP,Q?

- oW g
et £ -3 -g,=1,0, 1,933

B

;/

&
Y
P
3
>
Lé'?‘\‘.‘;m{‘.ﬁmﬂwlin

RANGE:

CRelotion |
(?c:)\wg GRS uC”l\ Lingies U EVGV'\/ X“V&EU@'

does not g
0 MV@”Q
\/ - v R E

ey

g
W

DOMAIN: [ = 5 i’l@g 5L X A -3)
-4, 3Jor ~y <y <

3)

©



Evaluation functions

6. [M(x)=x*—x+1

Finding slope- graph, table, 2 points, function

PR

8. Find the slope over the interval [2, 3]
X o (1 |2 |3 |4
fix)|8 |3 |0 |17 |1

(3,0) (3,17)

= (7-0)
" (2—a)

10. Find the slope over the interval [0, 5] of the function f(x) =3x + 1

= 3(o)

XY

Xa Ya

£(a)

Qi

V7 |
717
X, X3
()= 305>+
=S T
=\
X3 Va
(5,16
Xy ¥ ¥a ¥p

. g(x)=3x—6
ey <_7)a__ Gl b g(O): 30 Cf){; @
= "ﬂ"? * E TG
=157 )
x |0 il
£t A
> b. find x, iff(x)=0

c. find x, if g{x) = 12

B - G= 3

s 12
[ x=0 I

X Xg

9. Find the slope over the interval [0, 3]

11. Find the slope between the two points (10, 20) and (-4, 5)

SLOPFE !

N

_ (5-2a0)

(- —10)

=

it vmnnar i

—14

o= Co-=-%) ._..

KEY

Xy Y Xz y:&
Co,4) (3,0

e

(3 -a)

= _Q_.@_.:.sz Jwi““

(s-0) 5

e

=i

3



Characteristics of linear functions

12. 13.

Domain: [a 8] 6@ A< x < 8] Domain: C"" OO},C:Q;)
Range: E_..@») }L":FQDBQ —6 < y < !‘—9 Range: C“C}Q’, c:@)

x-intercept: C_5 A ) ' x-intercept:
A

3, 0)

y-intercept: Coy (»-:’) y-intercept: ( 0, L-[)
) o .

(mcreasing}decreasing: (—- la) g)
-l -
end behavior: as x > ‘,y > "G

asxg.‘ ,v—)‘«3'

Arithmetic sequences

asx-> -

increasing (- -y M)
end behavior: asx > oo,y > — O
o, y> OO

**Remember that an arithmetic sequence has a constant different between consecutive terms

}14. Is this an arithmetic sequence? If 50, name the common difference, d.

a. 2 3,5,8,12,17.. b.4,0,-4,-8,-12, ...
A N

s St M

+T Fa43445S T -ty

el

| O ‘ et o r*ém ot e L\/ES

15. a. Write the expllmt formula to give the nth term:

4,0,-4,-8,-12,. K NOW S Expiictt Fovanulo

,,.an_ L}_ _l. L\- (ﬂ ) w

b. What is the 122" term of this s.equen(:e'-J

LQO: —Hn -t SJG-— S‘cmph-(ﬁ‘ed—i:bwm

Gae= ~HO122)+ & E ﬁlaa'-"

~ 480 }

L" \NEAY function.

16. All arithmetic sequences represent a




